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=a(a® - b*) + (a®> - b*)c
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=f{a-(b-c){a+ (b-c)}
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© x* - 125 = (x - 5)(x2 + 5x + 25)
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=2 - (d+y)x-(?-y-2)
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(x=3)(x-1)(x+2)(x+4)+24
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2+ 33+ 23 - 3xyz
=(x+y+2)(*FP+y*+22-xy-yz—zx) =0
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x3_y3+x2y_xy2+2x2_2y2+x_y

= (-2 +xy+y) +w(x—y) +2(x+y)(x—y) +(x-)
= (x-E+y)?+2(x+y) + 1)

= (x-y)(x+y+1)?
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O (FP+x+1)(x*>-2x+1) @ (X +2x+2)(x* —x+2)
@(xg—x+2)(x2+x+2) @ (P+x-1)(x*-2x+1)

® (P+x-2)(x>+x+2)

P +3x%+4 = (x + 42 +4) -7
=(x2+2)2-x2
=2+ x+2)(x*-x+2)
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L (F2]) = a®b? — a?b3 + b3 - b2 + Pa? - 2aP

= (b? - ®)a® - (b® - c)a® + b?c*(b - ¢)
(b= (b+c)a® - (b* + bc + ¢*)a® + b*c?}
= (b-o){(c? —a®)b? —a*(c — a)b — a*c(c — a)}
(b-c)(c—a){(c+ a)b* - a*b—d’c}
= (b-c)(c-a){(b?®-a*)c+ab(b-a))
=(b-c)(c-a)(b-a){(b+a)c+ ab}

=—(a=b)(b-c)(c—a)(ab + bc + ca)
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198 = x,200 = y, 202 = z 2t 5}

1983 + 2003 + 2023 — 3 - 198 - 200 - 202
=x3+y> 4+ 23 - 3xyz

=(x+y+2)(x* +»* + 22 - xy - yz - 2%)
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X+y+z=2a+2b+2c=2(a+b+c)=2

(P4 2xy+ 1)+ (0P +2pz+ 1) + (2% + 220+ 1)
=x2+y* + 22+ 2xy +2yz+ 2zx + 3
=(x+y+2>%+3

=22+3=4+3=7
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(a=b+c)la-b-c)=(a+b+c)(-a—b+c)

_—a-b+c
a-b-c

a-b—+c
a+b+c

(@a=b)+cl(a=b)—cl+{(a+b)+cH(a+b)—c}=0

a-b+c)la-b-c)+(a+b+c)la+b-c)=0
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2(a® + b - c?)
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